Efficiency vs P,

+0.05
o

T SRR O R S S—

20.04F - ffeieeeeeees Rt e
o) N N N

B.035F i e o
] H H

0.08F- -+ * ------------ e e
0.025f -+ el yieeneeane e o
0.02F -+ o Feeeeeeeeen e

0.015F -+ {eefieeeeren e e
0.01F--- - e Feeeeeeeeen e

0.005

1.0

Ratio

o
©
a

=
o
iN

1 10 . Gedf’

—=— DQM_TT__mkFit-DQM_time_old132
—— DQM_TT__mkFit-DQM_time_new132

= 0.
2

20.09
2

50.08
o

£0.07
[}

0.06
0.05
0.04
0.03
0.02
0.01
.0

Ratio

o
©
a

= o1 B - : ;

E it p @

= I I P 1 P | P I P 1 (| P I PP P
LU R L B L L EL DL L
=3 -2 -1 0 1 2 3

Efficiency vs ¢

o0.05F
o E
§.045 ;
Q ]
_90.04 ;
&) .
§9.035F
[J] .

0.03F
0.025F- -
0.02E

o

TP @



	Contents
	Page 1


